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General Instructions :

(1) All questions are compulsory.

(it)  The question paper consists of 30 questions divided into four sections —
A, B, Cand D.

(iti) Section A contains 6 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 8 questions of 4 marks each.

(iv)  There is no overall choice. However, an internal choice has been provided in
two questions of 1 mark each, two questions of 2 marks each, four questions of
3 marks each and three questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

(v) Use of calculators is not permitted.
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37 1 37 Pl W ‘o .
Question numbeks 1 to 6 carry 1 mark each. e are a class apart...

1.  3If¢ Ush THTR @ 1 ndl U pn + q &, 1 SHHT 1A R 1A HITT |
If the n'P term of an A.P. is pn + q, find its common difference.
2. HM 4 KT :

tan 36°
cot H4°

HAAAT
Ife cosec? 0 (1 + cos 0) (1 —cos 0) = k ﬁ,?ﬁkaﬂmﬁﬁﬁml

Evaluate :
tan 36°

cot 54°

OR
Tanqnnz O(1 L e (1 _ e — 1 +thoan f0nd +ho vvaliio of 1




a’ b Tehd HHI °h TeTU TgEITd FHIRIU 9x2 — 3ax + 1 =0h Hol THMH & ?

AT
Ife fgam aHiehon 2x2 + 2x + k = 0 &1 T Hd —% g, @ k & HAE ¥@
HIT |

For what values of ‘a’ the quadratic equation 9x2 — 3ax + 1 = 0 has equal
roots ?

OR
If one root of the quadratic equation 2x2 + 2x + k =0is — %, then find the

value of k.

fagatl P(3, — 6) AU Q(5, 3) Tl TS+ I @S &l x-31&, [hE IIC H
fawTiord s 8 2

In what ratio is the line segment joining the points P(3, — 6) and Q(5, 3)
divided by x-axis ?

amﬁmwwﬁwmm9wélm
H*—II'-JOI('@'I d HadH HHI‘-JOI('IOI') bl IMThdd 500% | a:h 'H_@T?Fﬁ Em Hadd

ﬂEPmnsACADEMY

of two numbers is 9 times,  their HCF. The sum of LCM and

:
00. Find the HCF of the two numbers. CIaSS apart

a@ﬁuﬁ GC | BD @M GE || BF 2 | 9f¢ AC = 3 @t 9o CD = 7 94t =,
?ﬁ aﬂmaﬁﬁﬁnl




In figure 1, GC || BD and GE || BF. If AC =3 cm and CD = 7 cm, then find

the value of ﬂ
AF

Figure 1
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SECTION B

o7 GEI17 G 12 T 9% Jo7 & 2 3F 8 |
Question numbers 7 to 12 carry 2 marks each.

| GCOERRRS AGADEMY o we

e collinear. We are a ‘class’ apart...

8. = fean man amhaer sa FifSe
7+10+13 +...+46
YT
Ife Tk TR A 1 9af Ug I B, d sy fob 3@t 2997 Ug 3@ 1949 U
HEME R |

Find the sum given below :
7+10+ 13 +...+ 46
OR
If the 9™ term of an A.P. is zero, then show that its 29 term is double
of its 19*" term.




10.

11.

12.

I e 3+5‘/7 T IR e B, T R TR J7 ' omfe e
2 |

AT

ﬁ:@@mﬁﬁ n2+n%ﬁﬁWWn%m2ﬁﬁW%|

3+47

Show that is an irrational number, given that /7 is irrational.

OR

Prove that n? + n is divisible by 2 for any positive integer n.

p AT q H TEY T HINT IS x = 3 3N y = 1 THRT JH x — 4y + p = 0 AT
2X +y—q-2=0H1&A 2 |

Fin relation between p and q if x = 3 and y = 1 is the solution of the
paif iRl B ame AGALDEMY

We are a ‘class’ apart...
Il % Teh I hI Toh SR hebl T | TTRehaT F1d hiferg 6 (1) gF1 9@l =
T & 2 (i) T ST T AN 9 7 |
A pair of dice is thrown once. Find the probability of getting (i) even

number on each dice (i1) a total of 9.

T I T B e 8, o x Whe, 2x HIeA qAT 3x AT & | Th g Ages
A g | leRar wa i fr =g g (@) @ 7@ R, ) 7 R |
A bag contains some balls of which x are white, 2x are black and 3x are

red. A ball is selected at random. What is the probability that it is (i) not
red (ii) white ?



Qs |
SECTION C
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Question numbers 13 to 22 carry 3 marks each.

13.

14.

15.

T 9@ ABCD H AB || DC 2 | 3TEHIR YTl AD 99 BC W l: foig E

AT F 38 TR fod & 7% EF Y91 AB &% ®HIQR § | g3y %:%%

AT

T A ABC § A€ 491 BC W /A1 ™1 @9 BC ®I fog D W Wki=sg & 2,
& DB =3 CD 2 | fag $ifSe f 2 AB2 = 2 AC? + BC2.

ABCD is a trapezium with AB || DC. E and F are points on non-parallel

sides AD and BC respectively, such that EF || AB. Show that AE = BF

ED FC
OR

The perpendicular from A on the side BC of a A ABC intersects BC at D,

N COEPHASACEKDEMY

fog <t (for o o < aferd s wgS Pl TR Y I ap A, T I
10T A 8 |

Prove that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.

fag i

tan A tan A

— = 2cosec A
1+secA 1-secA

AT

frg shife

2
1+ M = cosec 0
1+ cosec O



16.

17.

18.

Prove that :
tan A __tan A
1+secA 1-secA

OR

= 2cosec A

Prove that :

2
1+ M = cosec 0
1+ cosec 0

fagatl A2, 1)d B(5, — 8) i Sie- aTell {@rEvs foigati P adn Q W awbTiia
BT 2, S8 PTog A o e ¢ | 9f¢ fog PX@1 2x — y + k = 0 W ot f&@ =,

dl k %1 99 JTd hIfST |
YT

ST {6 (a, a), (— a, —a) 99T (—/3 a, @a)@ﬁ'ﬂa@ﬁ‘ﬂﬂ%?ﬁéé |

The line segment joining the points A(2, 1) and B(5, — 8) is trisected by
the points P and Q, where P is nearer to A. If the point P also lies on the
line 2x — y + k = 0, find the value of k.

@) COEPian® ACADEMY

that (a, a), (—a, —a) and (—/3 a,w/g aa)r%r% V%Tgi(szess gfb %n rtgquilateral

2x* — 13x3 + 19x2 + 7x — 3 % At I TG HIY, Al 3TIHT 3Hh QA T
2+ 3 32— 3 AR |

Find all the zeroes of 2x* — 13x® + 19x% + 7x — 3, if you know that two of
its zeroes are 2 + /3 and 2 — /3.

Ifg x # fgama @it (a2 + b2)x? — 2(ac + bd)x + (c? + d?) = 0 % A TWH
If the roots of the quadratic equation in x

(a2 + bH)x? — 2(ac + bd)x + (¢2 + d%) = 0 are equal, prove that ad = bc.



19.

20.

21.

A TATINEA & TAM H 4052 qAT 12576 <h1 HewH dHMYEG (HCF) Td

HIT |

Use Euclid’s algorithm to find the HCF of 4052 and 12576.
=™ % 70 Yehel % WR Trfarfga amoft # few o § -

CADEMY

are a ‘class’ apart...

g (71, ) del # gEIr
200 - 201 12
201 - 202 26
202 - 203 20
203 — 204 9
204 - 205 2
205 — 206 1
SIEesh W 1A <hifT |
The weights of tea in 70 packets is given in the following table :
Weight (in g.) No. of packets
200 - 201 12
1 RN 28 A
(E).COEPiaR's A
203 - 204 g e
204 - 205 2
205 — 206 1
Find the modal weight.

a0 9 8% T AAMATRR h! i T 9159 R 3% wteX fd Hehe I
T W Gret foha Sirar g | Jfe Sht 1 s 8 Hi. |, df fohas w1 I @t
& st 2 (n = 22 <)

AT

16 Tt o UM ™ qAT 15 THT I THE Sa15 ATeT G THS hl 3ok ITMUR
& Y S oo Jrar 8 | 3599 S Ah T T IS &R T SIS |



A hemispherical tank full of water is emptied by a pipe at the rate of

3% litres per second. How much time will it take to empty the tank, if it

is 3 m in diameter ? (Take ©t = %)

OR

Two cones with same base diameter 16 cm and height 15 cm are joined

together along their bases. Find the surface area of the shape so formed.

22. TR 2T, ABC 3§ A T FHHIU Y 2 | AB, AC T BC &l SE HHH
Hefgd i T § | BETThd &7 HT %A Fq BT |

A

@8%

B C

@) COEPiaif& ACADEMY

We are a ‘class’ apart...
In figure 2;7ABC is a right-angled triangle at A. Semi-circles are drawn

on AB, AC and BC as diameters. Find the area of the shaded region.

Figure 2
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SECTION D

97 G&IT 23 @ 30 TF Jedh G971 & 4 3FH & |

Question numbers 23 to 30 carry 4 marks each.

23.

24.

25.

g e o6 ws Tuenior IS § ol &1 ol 7= g1 esti @ o & JrTHd

& U BT 8 |

Prove that in a right-triangle the square of the hypotenuse is equal to the

sum of the squares of the other two sides.

ﬁ@%éﬁﬂmmqagam zﬂqa—ﬁ ql <esu foh gHehT

(mn)di 92 1 8N |

AT

0 31X 50 = o= <l Tl fovq st =1 IS J1d hINT |

If th =P 9 RSt ADIE MYhat its

(mn)" ertn is 1. We are a class apart...

OR

Find the sum of all odd numbers between 0 and 50.

feu o wfietr ot x & ot g il
1 2 7
=+ =
x+1 x+2 x+5

,x#-1,-2,-5

Solve the following equation for x :

1+2_7
x+1 x+2 x+5

,x#—1,—-2,—-5



26.

27.

28.

Teh HHR b RIEG 8 Teh 8 HI. S YA oh MW dYAT TG b {IIHA <hIUT SHHS:

30° 9 45° 8 | WHR hI HaT8 a1 HHR 9 Wad o o= i g F1d HINT |
AYAT

g ad & 75 . e AT3eEsT o PR ¥ <@H W g A el o AITHA

I 30° 3R 45° § | ARG ATIEEIH & T &l 3 Th @l g8l 8T & 3ioh

9IS &, q gH1 el o s ehl il 1 SHIT |

The angles of depression of the top and bottom of a 8 m tall building from

the top of a tower are 30° and 45° respectively. Find the height of the
tower and the distance between the tower and the building.

OR
As observed from the top of a lighthouse, 75 m high from the sea level,
the angles of depression of two ships are 30° and 45°. If one ship is
exactly behind the other on the same side of the lighthouse, find the
distance between the two ships.

3 Tt e 1wk a0 Wit | g9 % bg ¥ 7 W A g W 3wE T ™
ST -: fog AT | A9 90 W 31 i@t 6t T T |

)6 O b P S G Eyoer

distancé of 7 em from its centre. Draw, two tangents to, the circle from A.
e are § Class ﬁ

Ifd tanx=ntany A7 sinx=msiny ﬁ,ﬁﬁ@ﬁﬁl@%
2
cos2x—m2 1
n“ -1
YA

Ife xsin36+yc0s39=sin6cose dYT x sin O = y cos O @,ﬁﬁ@
%II@Q%F»X2+y2=1

. . 9 m2 -1

If tanx=ntany and sin x = m sin y, prove that cos” x =

nz—l.

OR

If x sin® 0 + y cos® 0 = sin 0 cos 0 and x sin 0 = y cos 0, prove that

21 v2_1



IqIQ HHIIRId STRERAT S bl HIET 62-8 BT, dl It SRRl x AT hlT -

Eol

0-20

20 - 40

40 - 60

60 — 80

80 — 100

100 — 120

IRERAT

5

8

X

12

7

8

If the mean of the following frequency distribution is 62-8, then find the
missing frequency x :

Class 0-20 | 20-40 | 40-60 | 60-80 | 80—-100 | 100-120

Frequency 5 8 X 12 7 8

45 Al 34T 9T Tk W o fIEeh b g fal i st 28 avf qen 7 I
3 | 3R A TAT I5h TR &THA H1A hIT |

The radii of the circular ends of the frustum of a cone of height 45 cm, are
28 cm and 7 cm. Find its volume and curved surface area.

COEPian’s ACADEMY

We are a ‘class’ apart...



